Pack 1 Week 1 Answers:

Day 1:
Reading: Calling all adventurers

Test 1 — g5 21-23

1. 1 mark
the witimate summer adventure
{2b)
2. 1 mark
array
(2a)

3. 1 mark for either of the following:

2 fortnight OR fwo weeks
i2h)

4. 1 mark
campfires
{2b)

3. 1 mark for all four corract
You might be in the Kingfishers team at
Flerce Forast, — False
Fiaree Farest is suitable for
11-yearolds, — True
Everyone gefs fo go Ireetop exploring, —
Falza
There are four different activities (o
chooss from, — False
(2d)

6. 1 mark for two points (one for each
audience) with no evidence, e.q,
“The camp sounds like a game that
chifdren want to teke partin. The
text also makes parenls feel thal their
children would be safe.”

1 mark for one point with supporting
evidence, e.g.

“The text mantiohs an ‘amazing array of
acfivities” making the camp seam
fun-filled to chifdran.”

1 mark for one piece of evidence,
without a point, e.g.
“space to just kick back and relax”
2 marks for two points (one for each
audience) with one piece of evidence,
e.g.
“The fact that you can get prizes makes
the camp sound exciting for children.
The parents would trust the leaders.”
3 marks for one point for parents and
one for children, both with supporting
evidence, e.g.
“Being taught the ‘ways of the wild’
sounds exciting to children. The camp
leaders are described as ‘experfs’ so
parents would trust them to care for the
children.”
(2d)



Arithmetic: Sheet 1
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I ound 5,452 1o the nearest hundred.

Virts the value of the Roman numeras
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Round 153 74 to one decimal place,
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Convert 12 o a mixed number.
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Section 1:
read, write, order and compare numbers up to 10,000,000 and determine the
value of each digit

Wite these numbers in figures

forty-seven thousand and five

1,083

)
seven hundred and eight thousand. two hundred and nine

708 .20 _

seven million, three hundred and five thcusand and twenty

7 >U“\ QL Q

nine million, four thousand and two

9,004,002

Created by mathsframe co.uk.

W write the value of the undorlined digit

The first one has been done for you

420,085 [ =
4,730,279 | 30, 000

9,702,413

q.000 ,000

n Estimate the value of the numbers on the number line.
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10 mistion

=[5,300,000 | 5,900,000 |
(9,500,000 | E[900,000 ]

1

Wite these numbers in words

1,208,070

cw widlion Twohodred andeghde
Ly i =
6,180,001 £

Six midliens | e hundred andk aghly
Harand and ong
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Write the number that is ten loss ﬂmmmmm
[ 74240 |
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Wiite the number that is one hundrad less then eight million
A g
4 7 T
Wite the number that is one thousand less then half a million
L9 000
=
Underline the number that Is closest in value to soven million
699,992 7,000,012 6,999,989 700,010
SER O A
NS e
Created by mathelmme. co.us.
“ seven hundred and twelve thousand. four hundred and eighty |
T ' |
seven hundred and nine thousand, nine hundred and twenty-ono
-
T B8 =
Put these numbers in order starting with the smaliest
One has been done foe you
o e e =
Wirte the correct number in each box
L ! 1 "l ]
o ! A mlion

3,500,060



Draw an arow to show the approximate position of 48,535

[ I | [ T | 1 I I
) 1 million
10 Look at lhese sqns
=)=
Write the comect sign n each box
3,802,000

‘ three million, sight hundred and five

@l

989,985 < ten jass than ane mimon
750,000 x 2 [ — | one and & half milion
(=
47812 | £ | fourhundred and fve thousand
L,

A
8,315427 I7 5,315,247
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Wit the missing numbers in fhese sequences

170, 120, 70, 20 :QI | —20 |

38, 23 18, 8, L —‘ % _& )=l
w2, 20 e 2 |32 | [13Y

Here is part of & number line.

i,

-

0
The difference between A and B is 120

Wite the values of A and B

fa= ~ "3(;:\1[
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Section2:
use negative numbers in context, and calculate intervals across zero |

The {able below shows the temperatures of different cilies ca one day in January.

Gty I Lonzon | Moscow In.-\m-t] Sydey ] Pans ‘.’au\'nml |

[ 0°c I 2% l vr*tl e l az'c l"-‘r, [

‘What was the difference in temperature between Glasgow and London?

1r'c I N

How much warmer wes Pans than Toronto?

I <) _

How much warmer was the warmest city than the coldest city?

T

The naxl day he Lemperature in London fell 7°C. What was the new temperature?

Tho naxt day he temperalure 1 Mascow rose 5°C What was the new temporalure?

0 Paoe 6ot 8

Created by mathsframe.co.

Section 3: ]
round any whole number to a required degree of accuracy
J
iTW Undering bers which glve the nearost 1000
4280 3480 14,152 4500 3609

- Wite the missing numbers

undad b5 51100
iz, sl S|P o
rosraed 1o e pesret 1000 =
175285 - | | &), OO0

ez % the nescesd mion

4,501,285

5,000,000
B The Effarencs belween ws numbsrs i 10

Wnan ane of Ihe nurbers = rounded Lo te nearest 1000 1 gives an answer of 4000

When ihe 0lhar aumber is rounded 1o the nearast 1000 & gives an answer of 5000

What could the two numbers be?

4-a0 3 ] o

SPaG: Spring Term Workout 1

Workout 1 — pages 26-27

There is a tiger behind you!
Tigers are a species of cat.
1 mark for both correct

politician 1 mark
attention 1 mark

mnsequentml 1 mark
essential 1 mark
racial 1 mark

In the morning, I love to eat cornflakes. 1 mark

Penquins dance in a funny way. 1 mark
My mum keeps a secret stash of chocolate under
the sink. 1 mark

For the party, I need to buy:

+  balloons

+ one hat

- a pineapple

2 marks for all 3 correct bullet points, otherwise
1 mark for any 2 correct

Ameera is usually late for the train, so she hurries
to the station and jumps on board. She often
forgets her lunch and leaves it at home. Her
mum sometimes drives her instead. At least

she doesn’t have to rush on those days, unless
she wakes up late. 4 marks for all 8 words
correctly rewritten in the present tense, otherwise
1 mark for every 2 words correctly rewritten



